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1.​Consider the following pairs: 
Philosophy   Founder 
1. Advaita Vedanta : Shankaracharya 
2. Vishishtadvaita : Madhvacharya 
3. Dvaita Vedanta : Ramanujacharya 

Which of the pairs given above is/are correct? 
(a)1 only 
(b)1 and 2 only 
(c)2 and 3 only 
(d)1, 2 and 3 
2.​The recently launched scheme SHREYAS is related to. 
  (a) Scale up an ecosystem of entrepreneurship for youngsters. 
  (b) Portal for effective implementation of the National Child Labour 
Project (NCLP) 
  (c) Equipping all teachers across the nation with advanced digital 
technology. 
  (d) Providing industry apprenticeship opportunities to the general  
3.​This park is a Ramsar Wetland site. It is the country's second 
largest mangrove forest. It is home to saltwater estuarine crocodiles. 
These Mangrove forests are good habitat for King Cobra, Indian 
Python and Water Monitor Lizard. 
The above passage describes which of the following National 
Parks? 
(a)Bhitarkanika National Park 
(b)Marine National Park of Gulf of Kutch 
(c)Mahatma Gandhi Marine National Park 
(d)Dudhwa National Park 
4.​WHO’s REPLACE campaign is related to 
  (a)Replace all petrol and diesel vehicles to Electric Vehicles by 
2030. 
  (b)Replace all cooling systems in government buildings with 

1.​�न� न�ल�खत य�ु म� पर �वचार क�िजए: 
  दश�न   सं�थापक 
 1. अ�वतै वेदांत : शंकराचाय� 
 2. �व�श�टा�वतै : म�वाचाय� 
 3. �वतै वेदांत : रामानजुाचाय� 
उपयु��त य�ुम� म� से कौन-सा/से सह� समेु�लत है/ह�? 
(a)केवल 1 
(b)केवल 1 और 2 
(c)केवल 2 और 3 
(d)1, 2 और 3 
2.​हाल ह� म� �ारंभ क� गई योजना SHREYAS �कससे संबं�धत है? 
   (a) यवुाओ ंके �लए उ�यमशीलता का एक पया�वरण �न�म�त करने हेत।ु 
   (b) रा���य बाल �म प�रयोजना (एनसीएलपी) के �भावी काया��वयन के �लए 
पोट�ल 
   (c) उ�नत �डिजटल �ौ�यो�गक� के साथ देश भर म� सभी �श�क� को लसै 
करना। 
   (d) आम-जन को उ�योग अ���टस�शप के अवसर �दान करना 
3.​यह पाक�  एक रामसर आ��भ�ूम � थल है। यह देश का दसूरा सबसे �वशाल 
म��ोव वन है। यह खारे जल म� �नवास करने वाले  के �वारनदमखुी घ�ड़याल� 
का आवास � थल है। ये म��ोव वन, �कंग कोबरा, भारतीय अजगर और वाटर 
मॉ�नटर �लज़ड� के �लए अ�छे �ाकृ�तक पया�वास ह�। 
उपयु�� त प�र� छेद �न�न�ल�खत म� से �कस रा���य उ�यान का वण�न करता है? 
(a)भीतरक�णका नेशनल पाक�  
(b)क�छ क� खाड़ी मर�न नेशनल पाक�  
(c)महा�मा गांधी मर�न नेशनल पाक�  
(d)दधुवा नेशनल पाक�  
4.​WHO का REPLACE अ�भयान �कससे संबं�धत है 
 (a) 2030 तक सभी पे�ोल और डीजल वाहन� को इलेि��क वाहन� म� बदलने 
से। 
 (b) सरकार� भवन� म� सभी शीतलन �णा�लय� को ऊजा� कुशल शीतलन �णाल� 
से बदलने से। 
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energy efficient cooling system. 
  (c)Provide protein rich food to children in the government schools. 
  (d)Eliminate industrially produced trans-fatty acids from the global 
food supply. 
5.​With reference to the Model Code of Conduct, which of the 
following statements is/are correct? 
1. It is enforced from the date of announcement of election schedule 
by the Election Commission and is operational till the process of 
election is complete. 
2. During bye-elections to a particular constituency the code is 
applicable in the entire state. 
Select the correct answer using the code given below.  
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
6.​Consider the following provisions of Directive Principles of State 
Policy as enshrined under the Indian Constitution: 
1. To promote cottage industries on an individual or co-operation 
basis in rural areas. 
2. To promote equal justice and to provide free legal aid to the poor. 
3. To make provision for just and humane conditions for work and 
maternity relief . 
Which of the above is/are the Gandhian Principles that are reflected 
in the Directive Principles of State Policy? 
(a)1 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
7.​Consider the following statements with reference to Western 
disturbances: 
1. They are low pressure depressions. 
2. The amount of rainfall decreases from north and northwest to 
east. 
3. They are useful for kharif crops. 
Which of the statements given above is/are correct? 
(a)1 and 2 only 
(b)2 only 
(c)1 and 3 only 
(d)1, 2 and 3 
8.​Microbes are widely used in which of the following processes? 
1. Production of insulin 
2. Manufacturing of biofertilizers 
3. Reduction of metal pollutants 
Select the correct answer using the code given below.  
(a)1 and 2 only 
(b)2 and 3 only  
(c)1 and 3 only  
(d)1, 2 and 3 
9.​The International Campaign to Abolish Nuclear Weapons (ICAN) 
is: 
(a)a campaign by Middle East nations against the Joint 
Comprehensive Plan of Action or the Iran Deal. 
(b)a group of Least Developed Countries (LDCs) campaigning to 
prevent proliferation of nuclear weapons. 
(c)an international coalition of non-government organizations 
running the campaign to advocate United Nations nuclear weapon 
ban treaty. 
(d)none of the above 
10.​Consider the following statements regarding the Speaker of the 

 (c) सरकार� �कूल� म� ब�च� को �ोट�न य�ुत भोजन देने से। 
 (d) औ�यो�गक �प से उ�पा�दत �ांस-फैट� ए�सड को विै�वक खा�य आप�ूत� से 
हटा द�ने से । 
5.​आदश� आचार सं�हता के संदभ� म�, �न�न�ल�खत कथन� म� से कौन-सा/से सह� 
है/ह�? 

1. इसे �नवा�चन आयोग �वारा चनुाव काय��म क� घोषणा क� �त�थ से 
लागू �कया जाता है और यह चनुाव ���या परू� होने तक जार� रहती 
है। 

2. �कसी �वशषे �नवा�चन �े� के उप-चनुाव� के दौरान आचार सं�हता परेू 
रा�य म� लागू होती है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
6.​भारतीय सं�वधान म� व�ण�त रा�य के नी�त �नदेशक त�व� के संदभ� म� 
�न�न�ल�खत �ावधान� पर �वचार क�िजए: 

1. �ामीण �े�� म� �यि�तगत या सहकार� आधार पर कुट�र उ�योग� को 
�ो�साहन �दान करना। 

2. समान �याय को बढ़ावा देना और गर�ब� को �नःश�ुक �व�धक 
सहायता �दान करना। 

3. काम क� �यायसंगत और मानवो�चत दशाओ ंका तथा �स�ूत 
सहायता का उपबंध करना। 

उपयु��त म� से कौन-सा/से गांधीवाद� �स�धांत है/ह� जो रा�य के नी�त �नदेशक 
त�व� म� प�रल��त होता/होत ेहै/ह�? 
(a)केवल 1 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
7.​पि�चमी �व�ोभ� के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. ये �न�न वायदुाबीय अवदाब होत ेह�। 
2. वषा� क� मा�ा उ�र एवं उ�र-पि�चम से पवू� क� �दशा म� घटती जाती 

है। 
3. ये खर�फ फसल� के �लए लाभदायक होत ेह�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 
(c)केवल 1 और 3 
(d)1, 2 और 3 
8.​�न�न�ल�खत ���याओ ंम� से �कनम� स�ूमजीव� (Microbes) का �यापक �प 
से �योग �कया जाता है? 

1. इंस�ुलन के उ�पादन म� 
2. जवै उव�रक� के उ�पादन म� 
3. धात ु�दषूक� के अपचयन म� 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
9.​इंटरनेशनल क� पेन टू एबो�लश �यिू�लयर वेप�स  (ICAN) है: 
(a)जॉइंट कॉ��ीह��सव �लान ऑफ़ ए�शन या ईरान डील के �व��ध म�य-पवू� 
के देश� का एक अ�भयान। 
(b)परमाण ुह�थयार� के �सार को ��तबं�धत करने हेत ुअ�प�वक�सत देश� 
(LDCs) के एक समहू �वारा संचा�लत अ�भयान। 
(c)संय�ुत रा�� परमाण ुह�थयार �नषधे सं�ध के समथ�न म� अ�भयान चलाने 
वाले गैर-सरकार� संगठन� का अतंररा���य गठबंधन। ​ 
(d)उपयु��त म� से कोई नह�ं। 
10.​लोकसभा अ�य� और रा�यसभा के सभाप�त के संबंध म� �न� न�ल�खत 
कथन� पर �वचार क�िजए। 

1. लोकसभा अ�य�, लोकसभा का सद�य होता है, जब�क रा�यसभा 
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Lok Sabha and Chairman of the Rajya Sabha. 
1. The Speaker is a member of the Lok Sabha whereas, the 

Chairman is not a member of the Rajya Sabha. 
2. Only Lok Sabha members participate in the election and 

removal of Speaker, whereas in case of Chairman, 
members of both the houses participate. 

Which of the statements given above is/are correct?  
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
11.​Pledge Movement by M. G. Ranade and Raghunath Rao was 
against which of the following issues? 
(a)Sati  
(b)Dowry  
(c)Child marriage 
(d)Women education 
12.​Which of the following is/are criteria for declaring a language as a 
classical language? 

1. The recorded history of the language should be over a 
period of 1500-2000 years. 

2. The literary tradition is not borrowed from any other speech 
community. 

3. There should be no discontinuity between the original 
language and its later forms. 

Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)2 and 3 only 
(c)3 only 
(d) 1, 2 and 3 
13.​With reference to modern Indian history, ​Cunningham Circular​ is 
associated with: 
(a)Non Cooperation Movement 
(b)Civil Disobedience Movement  
(c)Quit India Movement 
(d)Swadeshi Movement 
14.​Consider the following pairs: 
Marine Protected 
Areas 

  Location 

1. Lothian Island : Andaman and Nicobar 
2. Bhitarkanika : Odisha 
3. Sundarbans : West Bengal 
Which of the pairs given above are correctly matched? 
(a)1 and 2 only 
(b)1 and 3 only 
(c)2 and 3 only 
(d)1, 2 and 3 
15.​With reference to the powers of the President, consider the 
following statements: 

1. The President summons as well as prorogues the 
Parliament. 

2. All the bills require President’s recommendation before 
they are introduced in the parliament 

3. The President can promulgate Ordinances when both the 
Houses of Parliament are in session. 

Which of the statements given above is/are correct? 
(a)1 only 
(b)2 and 3 only 
(c)2 only 
(d)1 and 3 only  

का सभाप�त रा�यसभा का सद�य नह�ं होता है। 
2. लोकसभा अ�य� के �नवा�चन और उसे पद से हटाने म� केवल 

लोकसभा सद� य भाग लेत ेह�, जब�क रा�यसभा के सभाप�त के 
मामले म� दोन� सदन� के सद�य भाग लेत ेह�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1 न ह� 2 
11.​एम. जी. रानाड ेऔर रघनुाथ राव �वारा ��त�ा आदंोलन (Pledge 
Movement) �न� न�ल�खत म� से �कस सम�या के �व��ध था? 
(a)सती �था 
(b)दहेज 
(c)बाल �ववाह 
(d)म�हला �श�ा 
12.​�कसी भाषा को शा��ीय भाषा के �प म� घो�षत करने के �लए �न�न�ल�खत 
म� से कौन-सा/से मापदंड है/ह�? 

1. भाषा का अ�भ�ल�खत इ�तहास 1500-2000 वष� क� अव�ध से 
अ�धक होना चा�हए। 

2. सा�हि�यक परंपरा �कसी अ�य भाषा समदुाय से गहृ�त नह�ं हो। 
3. मलू भाषा और उसके बाद के �प� म� कोई असांत�य नह�ं होना 

चा�हए। 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 3 
(d)1, 2 और 3 
13.​आध�ुनक भारतीय इ�तहास के संदभ� म�,  कि�नंघम सकु� लर (Cunningham 
Circular) ​�कसके साथ संब�ध है?  
(a)असहयोग आदंोलन  
(b)स�वनय अव�ा आदंोलन  
(c)भारत छोड़ो आदंोलन  
(d)�वदेशी आदंोलन 
14.​�न� न�ल�खत य�ु म� पर �वचार क�िजए: 
  सम�ु� संर��त �े�   �थान 
 1. लो�थयन �वीप : अडंमान और �नकोबार 
 2. भीतरक�णका : ओ�ड़शा 
 3. सुंदरवन : पि�चम बंगाल 
उपयु��त य�ुम� म� से कौन-सा/से सह� समेु�लत है/ह�? 
(a)केवल 1 और 2 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)1, 2 और 3 
15.​रा��प�त क� शि�तय� के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. रा��प�त संसद के सदन� को आहूत करता है और साथ ह� सदन� का 
स�ावसान करता है। 

2. सभी �वधेयक� को संसद म� ��ततु करने से पवू� रा��प�त क� 
अनशुंसा क� आव�यकता होती है। 

3. रा��प�त संसद के दोन� सदन� के स� म� होने क� ि�थ�त म� अ�यादेश 
जार� कर सकता है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल  2 और 3 
(c)केवल 2 
(d)केवल 1 और 3 
16.​�न�न�ल�खत रा���य उ�यान� म� से �कसे टाइगर �रजव� के साथ ह� साथ 
एल�फ� ट �रजव� के �प म� भी घो�षत �कया गया है? 

1. पे�रयार 
2. काजीरंगा 
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16.​Which of the following national parks have been delcared as 
Tiger Reserve as well as Elephant Reserve? 

1. Periyar 
2. Kaziranga 
3. Sunderbans 

Select the correct answer using the code given below. 
(a)1 and 3 only 
(b)1 and 2 only 
(c)2 and 3 only 
(d)1, 2 and 3 
17.​For which of the following the elections are held in accordance 
with the system of proportional representation by means of the 
single transferable vote? 
1. Rajya Sabha 
2. Lok Sabha 
3. President 
4. Vice President 
Select the correct answer using the code given below. 
(a)1 and 4 only 
(b)2, 3 and 4 only 
(c)1, 2 and 3 only 
(d)1, 3 and 4 only 
18.​With reference to the phenomena of ​temperature inversion, 
consider the following statements: 
1. It leads to stable weather conditions. 
2. It is always beneficial for farmers. 
3. It is observed between tropopause and stratosphere. 
Which of the statements given above is/are correct? 
(a)1 and 3 only 
(b)1 and 2 only 
(c)3 only 
(d)2 and 3 only 
19.​Which of the following may lead to Inflation? 
1. Hoarding 
2. Cartelization 
3. Speculation 
Select the correct answer using the code given below. 
(a)1 and 2 only  
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
20.​With reference to the Charter Act of 1833, consider the following 
statements: 
1. It provided for the setting up of Law Commission in India to codify 
Indian laws. 
2. It made Governor-General of Madras as Governor-General of 
India. 
3. It attempted to introduce a system of open competitions for the 
selection of civil servants. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)1 and 3 only 
(c)2 and 3 only 
(d)1, 2 and 3 
21.​Which of the following changes was/were made by the 97th 
Constitutional Amendment Act, 2011? 
1. It added a new Part IX-B in the Constitution which is entitled “The 
Co-operative Societies”. 
2. It included a new Directive Principle of State Policy on promotion 
of co-operative societies. 

3. सुंदरवन 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 3 
(b)केवल 1 और 2 
(c)केवल 2 और 3 
(d)1, 2 और 3 
17.​�न�न�ल�खत म� से कौन-से चनुाव ‘एकल ह�तांतरणीय मत के मा�यम से 
आनपुा�तक ��त�न�ध�व �णाल�’ के अनसुार आयोिजत �कये जात ेह�? 

1. रा�य सभा 
2. लोक सभा 
3. रा��प�त 
4. उपरा��प�त 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 4 
(b)केवल 2, 3 और 4 
(c)केवल 1, 2 और 3 
(d)केवल 1, 3 और 4 
18.​तापमान �य�ु�मण क� प�रघटना के संदभ� म�, �न�न�ल�खत कथन� पर 
�वचार क�िजए: 

1. इसके प�रणाम�व�प ि�थर मौसमी दशाएं उ�प�न होती ह�। 
2. यह �कसान� के �लए सदैव लाभदायक होती है। 
3. यह �ोभ-सीमा और समतापमंडल के म�य घ�टत होती है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 3 
(b)केवल 1 और 2 
(c)केवल 3 
(d)केवल 2 और 3 
19.​�न�न�ल�खत म� से �कनके कारण म�ुा�फ��त उ�प�न हो सकती है? 

1. जमाखोर� 
2. काट�लाइजेशन (�यवसायी समहून) 
3. स�टेबाज़ी 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
20.​1833 के चाट�र अ�ध�नयम के संदभ� म�, �न�न�ल�खत कथन� पर �वचार 
क�िजए: 

1. इसके तहत भारतीय काननू� को सं�हताब�ध करने हेत ुभारत म� �व�ध 
आयोग क� �थापना के �लए �ावधान �कया गया। 

2. इसके �वारा म�ास के गवन�र-जनरल को भारत का गवन�र जनरल 
बना �दया गया। 

3. इसम� �स�वल सेवक� के चयन के �लए खलु� ��त�पधा� �णाल� के 
�ारंभ का �यास �कया गया। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)1, 2 और 3 
21.​97व� संवधैा�नक संशोधन अ�ध�नयम, 2011 �वारा, �न�न�ल�खत म� से 
कौन-सा/से प�रवत�न �कया/�कये गया/गए? 

1. इसके �वारा सं�वधान म� 'सहकार� स�म�तयां' नामक एक नया भाग 
IX-B अतंः�था�पत �कया गया। 

2. इसम� सहकार� स�म�तय� को बढ़ावा हेत ुएक नया ‘रा�य का नी�त 
�नदेशक त�व’ शा�मल �कया गया। 

3. इसके �वारा सहकार� स�म�तय� के �नमा�ण के अ�धकार को मलू 
अ�धकार बनाया गया। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए।  
(a)केवल 1 
(b)केवल 2 और 3 
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3. It made the right to form co-operative societies a fundamental 
right. 
Select the correct answer using the code given below. 
(a)1 only 
(b)2 and 3 only 
(c)1 and 2 only 
(d)1, 2 and 3 
22.​Consider the following statements: 
1. Eastern ghats and Western ghats run parallel to Arabian sea 
coast. 
2. The average height of Eastern ghats is more than that of Western 
ghats. 
3. Eastern ghats do not form a continuous chain of mountains like 
Western ghats. 
Which of the statements given above is/are correct? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)3 only 
(d)1, 2 and 3 
23.​Which of the following statements is/are correct with reference to 
antigens? 
1. They are substances that are capable of stimulating an immune 
response. 
2. They can only be produced inside the human body. 
3. Antibodies are produced by immune system to target antigen. 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)1 and 3 only 
(c)3 only 
(d)1, 2 and 3 
24.​Dollu Kunitha​, ​Yakshagana​ and ​Bayalata​ dance forms are 
associated with which of the following states? 
(a)Karnataka 
(b)Manipur 
(c)Kerala 
(d)Odisha 
25.​Which of the following are correct with reference to the invasive 
alien species? 
1. Any species that is outside its natural distribution is an invasive 
alien species. 
2. They can lead to biodiversity loss in an ecosystem. 
3. Water hyacinth is an example of invasive alien species. 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)1 and 3 only 
(c)2 and 3 only 
(d)1, 2 and 3 
26.​Stealth Technology, often in news, works on the principle of 
(a)movement of objects at supersonic speeds. 
(b)elimination of radar reflections. 
(c)burning fuel at very low temperatures to provide greater thrust. 
(d)none of the above  
27.​The Global Cyber Security Index is released by 
(a)World Economic Forum 
(b)International Monetary Fund 
(c)International Telecommunication Union 
(d)World Bank 
28.​With reference to atmospheric layers, consider the following 
statements: 

1. Exosphere is the coldest layer of the atmosphere. 

(c)केवल 1 और 2 
(d)1, 2 और 3 
22.​�न�न�ल�खत कथन� पर �वचार क�िजए: 

1. पवू� घाट और पि�चमी घाट अरब सागर तट के समा�तर अवि�थत 
ह�। 

2. पवू� घाट क� औसत ऊंचाई पि�चमी घाट क� तलुना म� अ�धक है। 
3. पवू� घाट, पि�चमी घाट क� भां�त पहाड़� क� अ�वि�छ�न (�नरंतर) 

�ृंखलाओ ंका �नमा�ण नह�ं करत ेह�। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 3 
(d)1, 2 और 3 
23.​एंट�जन के संदभ� म�, �न�न�ल�खत कथन� म� से कौन-सा/से सह� है? 

1. ये ऐसे पदाथ� ह� जो ��तर�ा ��त��या को उ�ेिजत करने म� स�म 
होत ेह�। 

2. ये केवल मानव शर�र के अदंर ह� उ�पा�दत �कए जा सकत ेह�। 
3. एंट�जन को टारगेट (ल��त) करने के �लए ��तर�ा �णाल� �वारा 

एंट�बॉडीज उ�पा�दत �कए जात ेह�। 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 1 और 3 
(c)केवल 3 
(d)1, 2 और 3 
24.​डो�ल ूकुनीथा , ​य�गान  और  बयलता  न�ृय शलै� �न�न�ल�खत म� से �कस 
रा�य से संब�ध ह�? 
(a)कना�टक 
(b)म�णपरु 
(c)केरल 
(d)ओ�डशा 
25.​आ�ामक �वदेशी �जा�तय� के संदभ� म�, �न�न�ल�खत कथन� म� से कौन-से 
सह� ह�? 

1. अपने �ाकृ�तक आवास के बाहर कोई भी �जा�त, एक आ�ामक 
�वदेशी �जा�त है। 

2.  ये एक पा�रि�थ�तक� तं� म� जवै �व�वधता क� ��त का कारण हो 
सकती ह�। 

3.  जलकंुभी आ�ामक �वदेशी �जा�तय� का एक उदाहरण है। 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)1, 2 और 3 
26.​�ायः स�ुख़�य� म� रहने वाल� �ट��थ टे�नोलॉजी, �कस �स�धांत पर काय� 
करती है? 
(a)सपुरसो�नक ग�त पर व�तओु ंका संचलन  
(b)रडार �वारा ��े�पत रे�डयो तरंग� का �वलोपन 
(c)अ�य�धक बल (��ट) �दान करने हेत ुअ�त �न�न तापमान पर �धन का 
दहन। 
(d)उपयु��त म� से कोई नह� ं
27.​�लोबल साइबर �स�यो�रट� इंड�ेस �कसके �वारा जार� �कया जाता है? 
(a)व�ड� इकोनॉ�मक फोरम 
(b)इंटरनेशनल मोनेटर� फ�ड 
(c)इंटरनेशनल टेल�क�य�ुनकेशन य�ूनयन 
(d)व�ड� ब�क 
28.​वायमुंडल�य परत� के संदभ� म�, �न� न�ल�खत कथन� पर �वचार क�िजए: 

1. ब�हम�डल (Exosphere) वातावरण क� सवा��धक ठंडी परत है। 
2. म�यमंडल (Mesosphere) पणू�तया मेघ र�हत है। 
3. ओजोन परत समतापमंडल (Stratosphere) म� पाई जाती है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
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2. Mesosphere is completely devoid of clouds. 
3. Ozone layer is found in stratosphere. 

Which of the statements given above is/are correct? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)3 only 
(d)1, 2 and 3 
29.​The Constitution (73rd Amendment Act), 1992, provides at least 
one-third reservation to: 

1. Women 
2. SC/ST 
3. Backward classes 

Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)1 only 
(c)2 and 3 only 
(d)1, 2 and 3 
30.​With reference to Government of India Act, 1935, consider the 
following statements: 

1. The act had a provision of granting Dominion status to 
India if fifty percent princely states agreed to it. 

2. The secretary of state was to be paid out of the British 
exchequer after the act came into force. 

3. It extended separate electorate to Anglo Indians, 
Europeans and Sikh. 

Which of the statements given above is/are correct? 
(a)1 and 3 only 
(b)2 and 3 only 
(c)3 only 
(d)None 
31.​Agraharas of Chola period refer to 
(a)Appointed governors of provinces 
(b)Brahmana villages 
(c)Revenue officers in districts 
(d)Tax collection rates 
32.​Colony collapse disorder​ has been observed in which of the 
following species? 
(a)Bees 
(b)Ants  
(c)Termites  
(d)Flamingos 
33.​With reference to Sun spots, consider the following statements: 

1. Sun spots are the regions of intense magnetic field on the 
surface of the sun. 

2. Sun spots are hotter than the rest of the surface of the sun. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
34.​Consider the following provisions of Directive Principles of State 
Policy as enshrined under the Indian Constitution: 

1. To prohibit the slaughter of cows. 
2. To prohibit consumption of intoxicating drinks. 
3. To promote the educational and economic interests of SCs, 

STs, and other weaker sections of the society. 
Which of the above is/are the Gandhian Principles that are reflected 
in the Directive Principles of State Policy? 
(a)1 and 2 only 
(b)2 only 

(b)केवल 2 और 3 
(c)केवल 3 
(d)1, 2 और 3 
29.​73वां सं�वधान संशोधन अ�ध�नयम, 1992, �न�न�ल�खत म� से 
�कसको/�कनको � यनूतम एक-�तहाई आर�ण �दान करता है/ह�? 

1. म�हला 
2. अनसु�ूचत जा�त/अनसु�ूचत जनजा�त 
3. �पछड़ ेवग� 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 1 
(c)केवल 2 और 3 
(d)1, 2 और 3 
30.​सरकार भारत अ�ध�नयम, 1935 के संदभ� म� �न� न�ल�खत कथन� पर 
�वचार क�िजए: 

1. इस अ�ध�नयम म� पचास ��तशत �रयासत� �वारा सहम�त � य� त  
करने पर भारत को डो�म�नयन �टेटस �दान करने का �ावधान था। 

2. अ�ध�नयम के �व�त�त होने के उपरांत रा�य स�चव (से�ेटर� ऑफ़ 
�टेट) को ���टश राजकोष से भगुतान �कया जाना �नयत था। 

3. इसने आ�ंल-भारतीय�, यरूोपीय� और �सख� के �लए पथृक �नवा�चक 
मंडल �दान �कया। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�?  
(a)केवल 1 और 3  
(b)केवल 2 और 3  
(c)केवल 3  
(d)उपरो�त म� से कोई नह� ं
31.​चोल काल के  अ�हार�  का संदभ� �न�न�ल�खत म� से �कनसे है?  
(a)�ांत� के �नय�ुत रा�या�धका�रय� से  
(b)�ा�मण गांव� से  
(c)िजले म� राज�व अ�धका�रय� से  
(d)कर सं�ह दर� से 
32.​कॉलोनी   कोल�ैस �डसऑड�र �न�न�ल�खत म� से कौन-सी �जा�तय� म� देखा 
जाता रहा है?  
(a)मधमु�खी (Bees)  
(b)चींट� (Ants)  
(c)द�मक (Termites)  
(d)�ले�मगंो (Flamingos) 
33.​सौर ध�ब� के संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. सौर ध�बे, सयू� क� सतह पर �बल च�ुबक�य �े� होत ेह�। 
2. सौर ध�बे सयू� क� शषे सतह क� अपे�ा अ�धक गम� होत ेह�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
34.​भारतीय सं�वधान म� �न�द��ट रा�य के नी�त �नदेशक त� व� के �न� न�ल�खत 
�ावधान� पर �वचार क�िजए: 

1. गौ-ह�या को ��तबं�धत करना। 
2. मादक पेय पदाथ� के उपभोग को ��तबं�धत करना। 
3. अनसु�ूचत जा�तय�, अनसु�ूचत जनजा�तय� और समाज के अ�य 

कमजोर वग� के श�ै�क और आ�थ�क �हत� को बढ़ावा देना। 
उपयु�� त म� से कौन-सा/से, रा�य क� नी�त के �नदेशक त�व� म� प�रल��त 
गांधीवाद� �स�धांत है/ह�?  
(a)केवल 1 और 2  
(b)केवल 2  
(c)केवल 1 और 3  
(d)1, 2 और 3  
 
35.​�सधं ुघाट� स�यता के संबंध म� �न� न�ल�खत य�ु म� पर �वचार क�िजए: 
  शहर   �वशषे स�ुवधा 
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(c)1 and 3 only 
(d)1, 2 and 3 
35.​Consider the following pairs with respect to Indus valley 
civilization: 
City   Special feature 
1. Kalibangan : fire altars 
2. Harappa : dockyard 
3. Mohenjodaro : granaries 
Which of the pairs given above are correctly matched? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
36.​Yemen shares its borders with 

1. Saudi Arabia 
2. Oman 
3. UAE 
4. Turkey 

Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)1 and 3 only 
(c)2, 3 and 4 only 
(d)1, 2, 3 and 4 
37.​Consider the following pairs: 
      ​ Scientists                Literary Work 
1. Bhaskaracharya     Siddhant Shiromani 
2. Nagarjuna               Rasaratnakara 
3. Varahamihira           Brihat Samhita 
Which of the pairs given above are correctly matched? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
38.​'It was sent to India to secure cooperation of India in the war 
efforts. It proposed that India would be given Dominion status after 
the war and that only Indians will be involved in the making of the 
Constitution. Jawaharlal Nehru and Maulana Azad were the official 
negotiators from the side of Indian National Congress.' 
The above passage best describes which of the following? 
(a)Indian Statutory Commission 
(b)Cabinet Mission 
(c)Cripps Mission 
(d)Macaulay Commission  
39.​Consider the following pairs: 
Geographical Feature      State 
1. Doab                              West Bengal 
2. Chars and bills                Punjab 
3. Dhrian                            Rajasthan 
4. Reh                                Haryana 
Which of the pairs given above are correctly matched? 
(a)1 and 2 only 
(b)3 and 4 only 
(c)1, 3 and 4 only 
(d)1, 2, 3 and 4 
40.​Trenches are the deepest parts of the oceans. In this regard, 
consider the following statements: 
1. They are deep valleys found cutting across the continental 
shelves. 
2. The location of trenches are significant in the study of plate 

 1. काल�बंगा : अि�न वे�दया ं
 2. हड़�पा : जहाज� क� गोद� (dockyard) 
 3. मोहनजोदड़ो : अ�नागार 
उपयु��त य�ुम� म� से कौन-से सह� समेु�लत ह�?  
(a)केवल 1 और 2  
(b)केवल 2 और 3  
(c)केवल 1 और 3  
(d)1, 2 और 3 
36.​यमन �न�न�ल�खत म� से �कन देश� के साथ अपनी सीमा साझा करता है? 

1. सऊद� अरब 
2. ओमान 
3. संय�ुत अरब अमीरात 
4. तकु� 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 1 और 3 
(c)केवल 2, 3 और 4 
(d)1, 2, 3 और 4 
37.​�न�न�ल�खत य�ुम� पर �वचार क�िजए : 

व�ैा�नक   सा�हि�यक काय� 
1. भा�कराचाय� : �स�धांत �शरोम�ण 

2. नागाजु�न : रसर�नाकर 
3. वराह�म�हर : वहृ�सं�हता 

उपयु��त य�ुम� म� से कौन-से सह� समेु�लत ह�? 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
38.​'य�ुध के �यास� म� भारत के सहयोग को सरु��त करने हेत ुइसे भारत भेजा 
गया था। इसने ��ता�वत �कया �क य�ुध के बाद भारत को डो�म�नयन �टेटस 
दे �दया जाएगा और केवल भारतीय ह� सं�वधान �नमा�ण क� ���या म� 
सि�म�लत ह�गे। भारतीय रा���य कां�ेस क� ओर से जवाहरलाल नेह� और 
मौलाना आजाद आ�धका�रक वाता�कार थे।’ 
उपयु��त प�र�छेद �न�न�ल�खत म� से �कसका सव��म वण�न करता है? 
(a)भारतीय सां�व�धक आयोग 
(b)कै�बनेट �मशन 
(c)���स �मशन 
(d)मकैाले आयोग 
39.​�न�न�ल�खत य�ुम� पर �वचार क�िजए: 

भौगो�लक �वशषेताएं   रा�य 
1. दोआब : पि�चम बंगाल 

2. चार और �बल : पंजाब 
3. ध�रयन : राज�थान 

4. रेह : ह�रयाणा 
उपयु��त य�ुम� म� से कौन-सा/से सह� समेु�लत है/ह�? 
(a)केवल 1 और 2  
(b)केवल 3 और 4 
(c)केवल 1, 3 और 4 
(d)1, 2, 3 और 4 
40.​गत�, महासागर� के सवा��धक गहरे भाग होत ेह�। इस संबंध म�, �न�न�ल�खत 
कथन� पर �वचार क�िजए: 

1. यह महा�वीपीय श�ेफ को आर-पार काटने वाल� गहर� घा�टयाँ होती 
ह�। 

2. गत� क� अवि�थ�त, �लेट �ववत��नक� के अ�ययन म� मह�वपणू� ह�। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
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tectonics. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
41.​Which of the following parts of the Constitution is/are applicable 
to Jammu and Kashmir? 
1. Directive Priniciples of State Policy 
2. President's Rule 
3. Fifth Schedule 
4. Fundamental Duties 
Select the correct answer using the code given below. 
(a)2 only 
(b)2 and 3 only 
(c)1 and 4 only 
(d)1 and 3 only 
42.​With reference to the art and archaeological history of India, 
which one among the following was made earliest? 
(a)Kailashnath temple at Ellora 
(b)Shore temple at Mahabalipuram 
(c)Sun temple at Modhera 
(d)Dashavtara Vishnu temple at Deogarh 
43.​Which among the following scripts were used on Ashokan 
inscriptions? 
1. Kharoshti 
2. Brahmi 
3. Greek 
4. Devnagri 
Select the correct answer using the code given below. 
(a)1, 3 and 4 only 
(b)2 and 4 only 
(c)1 and 3 only 
(d)1, 2 and 3 only 
44.​'Ritual kinship was the hallmark of this dynasty. The kings of this 
dynasty claimed to rule on behalf of the god Virupaksha. All royal 
orders were signed in the name “Shri Virupaksha”. The kings of this 
dynasty also indicated their close links with the gods by using the 
title “Hindu Suratrana.' 
The above passage best descibes which of the following dynasties? 
(a)Kakatiya dynasty 
(b)Chalukya dynasty 
(c)Vijaynagara dynasty 
(d)Bahmani dynasty 
45.​In the context of Buddhism, the term ​'Arahant'​ refers to  
(a)a compilation of Buddhist spritual texts 
(b)the rules of monastic order (Sangha) 
(c)the worthy, who could attain ​Nirvana 
(d)residential places for Buddhist monks  
46.​Consider the following pairs: 
Pass Connects 
1. Shipki La Himachal Pradesh and Tibet 
2. Mana Uttarakhand and Tibet 
3. Khardung La  Leh and Siachen Glacier 
4. Dihang Arunachal Pradesh and Myanmar 
Which of the pair given above are correctly matched? 
(a)1 and 2 only 
(b)3 and 4 only 
(c)1 and 3 only 
(d)1, 2, 3 and 4 

(d)न तो, न ह� 2 
41.​सं�वधान का/के �न�न�ल�खत म� से कौन-सा/से भाग ज�म ूव क�मीर रा�य 
पर लागू होता/होत ेहै/ह�? 

1. रा�य क� नी�त के �नदेशक त�व 
2. रा��प�त शासन 
3. पाँचवी अनसुचूी 
4. मलू कत��य 

नीचे �दए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 2  
(b)केवल 2 और 3 
(c)केवल 1 और 4 
(d)केवल 1 और 3 
42.​भारत के कला एवं परुाताि�वक इ�तहास के संदभ� म�, �न�न�ल�खत म� से 
सव��थम �कसका �नमा�ण �कया गया था? 
(a)एलोरा का कैलाशनाथ मं�दर 
(b)महाबल�परुम का शोर मं�दर 
(c)मोढेरा का सयू� मं�दर 
(d)देवगढ़ का दशावतार �व�ण ुमं�दर 
43.​अशोक के अ�भलेख� पर �न�न�ल�खत म� से कौन-सी �ल�पय� का �योग 
�कया गया था? 
1. खरो�ठ� 
2. �ा�मी 
3. �ीक 
4. देवनागर� 
नीचे �दए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1, 3 और 4  
(b)केवल 2 और 4 
(c)केवल 1 और 3 
(d)केवल 1, 2 और 3 
44.​'अन�ुठा�नक राजतं� (�रचअुल �कि�शप) इस वंश क� �मखु पहचान थी। 
इस वंश के राजा भगवान ्�व�पा� क� ओर से शासन करने का दावा करत ेथे। 
सभी शाह� आदेश� को “�ी �व�पा�” के नाम से ह�ता��रत �कया जाता था। इस 
वंश के राजाओ ंने “�हदं ूसरु�ाण” क� उपा�ध का �योग कर देवताओ ंके साथ 
अपने �नकट संबंध� का संकेत �दया।’ 
उपयु��त प�र�छेद �न�न�ल�खत म� से �कस वंश क� सव��े�ठ �या�या करता है? 
(a)काकतीय वंश 
(b)चाल�ुय वंश 
(c)�वजयनगर वंश 
(d)बहमनी वंश 
45.​बौ�ध धम� के संबंध म�, 'अरहंत' श�द संद�भ�त करता है: 
(a)बौ�ध आ�याि�मक �ंथ� का एक संकलन को 
(b)मठ (संघ) संबंधी अनशुासन के �नयम� को 
(c)उस ‘यो�य मन�ुय’ को, जो �नवा�ण �ा�त कर सकता है 
(d)बौ�ध �भ�ुओ ंके �लए आवासीय �थल� को 
46.​�न�न�ल�खत य�ुम� पर �वचार क�िजए: 
दर�   िजन �थल� को जोड़त ेह� 
1. �शपक� ला : �हमाचल �देश और �त�बत 
2. माना : उ�राखंड और �त�बत 
3. खारदुंग ला : लेह और �सया�चन �ले�शयर 
4. �दहांग : अ�णाचल �देश और �यांमार 
उपयु��त य�ुम� म� से कौन-से सह� समेु�लत ह�? 
(a)केवल 1 और 2 
(b)केवल 3 और 4 
(c)केवल 1 और 3 
(d)1, 2, 3 और 4 
47.​�चपको आदंोलन के संदभ� म�, �न�न�ल�खत कथन� म� से कौन-सा/से सह� 
है/ह�? 

1. यह गांधीवाद� दश�न पर आधा�रत एक वन संर�ण आदंोलन था। 
2. यह सबसे पहले द��ण भारत क� नील�ग�र पहा�ड़य� म� आरंभ हुआ 
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47.​With reference to Chipko Movement, which of the following 
statements is/are correct? 
1. It was a forest conservation movement based on Gandhian 
philosophy. 
2. It was first started in the Nilgiri Hills of Southern India. 
3. Sunderlal Bahuguna was one of the main leaders of the 
movement. 
Select the correct answer using the codes given below. 
(a)1 only 
(b)1 and 2 only 
(c)1 and 3 only 
(d)2 and 3 only 
48.​Red tide is caused during which an organism become so 
numerous that they discolor coastal waters. The organism referred 
here is 
(a)Algae 
(b)Phytoplanktons 
(c)Bacteria 
(d)Pollens 
49.​Which among the following steps were undertaken by the 
Moderates to promote nationalism? 
1. Organization of annual sessions with delegates participating from 
all parts of the country. 
2. Organization of religious festivals. 
3. Using press to disseminate ideas. 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)2 and 3 only  
(c)1 and 3 only 
(d)1, 2 and 3 
50.​With reference to the Preamble, what does the term 'republic' 
indicate? 
1. Vesting of political sovereignty in the people. 
2. Sense of brotherhood. 
3. All public offices open to every citizen without any discrimination. 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
51.​Consider the following statements with respect to Lalit Kala 
Academy: 

1. It is an autonomous body fully funded by the Ministry of 
Culture. 

2. Its objective is to foster and co-ordinate literary activities in 
all the Indian languages. 

Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
52.​With reference to state legislatures, consider the following 
statements: 
1. The Governor can nominate one member from the Anglo-Indian 
community to the Legislative Assembly. 
2. The maximum strength of the Legislative Council is fixed at 
one-third of the total strength of the assembly and the minimum 
strength is fixed at 40. 
Which of the statements given above is/are correct? 
(a)1 only 

था। 
3. स�ुदरलाल बहुगुणा इस आदंोलन के �मखु नेताओ ंम� से एक थे। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 
(b)केवल 1 और 2 
(c)केवल 1 और 3 
(d)केवल 2 और 3 
48.​’रेड टाइड’, तब उ�प�न होता है जब एक जीव क� सं�या इतनी अ�धक हो 
जाती है �क वे तट�य जल का रंग प�रव�त�त कर देत ेह�। इस कथन म� �न�द��ट 
जीव है: 
(a)शवैाल 
(b)पादप �लवक 
(c)जीवाण ु 
(d)पराग कण (Pollens) 
49.​नरमदल के नेताओ ं�वारा रा��वाद को बढ़ावा देने हेत ु�न�न�ल�खत म� से 
कौन-से कदम उठाए गए थे? 

1. देश के सभी भाग� से ��त�न�धय� क� भागीदार� वाले वा�ष�क 
अ�धवेशन� का आयोजन 

2. धा�म�क उ�सव� का आयोजन 
3. �वचार� के �सार हेत ु�ेस का उपयोग 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए।  
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
50.​��तावना के स�दभ� म�, ‘गणरा�य’ श�द �या �न�द��ट करता है?  

1. राजनी�तक सं�भतुा लोग� म� अतं�न��हत है। 
2. बंध�ुव का भाव। 
3. सभी लोक काया�लय पद �बना �कसी भेदभाव के ��येक नाग�रक के 

�लए खलेु ह�। 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
 
51.​ल�लत कला अकादमी के स�दभ� म�, �न�न�ल�खत कथन� पर �वचार 
क�िजए: 

1. यह एक �वाय� �नकाय है और पणू� �प से सं�कृ�त मं�ालय �वारा 
�व� पो�षत है। 

2. इसका उ�दे�य सभी भारतीय भाषाओ ंम� सा�हि�यक ग�त�व�धय� को 
�ो�सा�हत और समि�वत करना है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
52.​रा�य �वधान मंडल के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए:  

1. रा�यपाल, �वधानसभा म� आ�ंल-भारतीय समदुाय से एक सद�य को 
मनोनीत कर सकता है। 

2. �वधान प�रष� क� अ�धकतम सं�या �वधान सभा क� एक �तहाई और 
�यनूतम सं�या 40 �नधा��रत क� गई है।  

उपयु��त कथन� म� से कौन-सा/से सह� है/ह� ? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
53.​�न�न�ल�खत कथन� पर �वचार क�िजए: 

1. गांधार कला शलै� के �वपर�त, मथरुा शलै� यनूानी-रोमन �वशषेताओ ं
से अ�य�धक �भा�वत है। 
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(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
53.​Consider the following statements:  

1. Unlike Gandhara School of Art, Mathura School is largely 
influenced by Greco-Roman features. 

2. Unlike Mathura School of Art, Gandhara School mainly 
depicted Buddhist, Brahmanical and secular themes. 

Which of the statements given above is/are correct?  
(a)1 only  
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
54.​With reference to the Article 19 of Indian Constitution, which of 
the following statements is/are correct? 
1. It includes both the right to reside and settle in any part of the 
territory of India 
2. There is no restriction on the right to reside and settle in tribal 
areas. 
Select the correct answer using the code given below. 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
55.​‘It is a cash crop, cultivated in tropical and sub-tropical regions. It 
thrives well in hot and humid climate with ideal temperature of 20-30 
degree C and annual rainfall of 150-300 cm. It is a shade loving 
plant and develops more vigorously when planted along with shady 
trees. It requires well-drained soil for its cultivation. India is the 2nd 
largest producer of this crop.’ 
Identify the crop from the above passage. 
(a)Mustard 
(b)Tea 
(c)Sugarcane 
(d)Cotton 
56.​Consider the following statements regarding Official languages of 
the United Nations, recently seen in news: 
1. A language can be recognised as an official language only after 
the unanimous acceptance by the UN general assembly. 
2. Currently English and Spanish are the only official languages of 
the UN. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
57.​Which among the following were associated with construction at 
Mahabodhi Temple Complex? 
1. Mauryas 
2. Guptas 
3. Palas 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
58.​Which of the following states experiences a cold humid winter 
with short summer? 
1. Arunachal Pradesh 
2. Sikkim 

2. मथरुा कला शलै� के �वपर�त, गांधार शलै� के तहत म�ुयतः बौ�ध, 
�ा�मण और धम��नरपे� �वषय� को �न��पत �कया गया है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1  
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
54.​भारतीय सं�वधान  के अन�ुछेद 19 के संदभ� म�, �न�न�ल�खत कथन� म� से 
कौन-सा/से सह� है/ह�? 

1. इसके अतंग�त देश के �कसी भी �े� म� �नवास और बसने दोन� का 
अ�धकार सि�म�लत है। 

2. जनजातीय �े�� म� �नवास और बसने के अ�धकार पर कोई ��तबंध 
नह�ं है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
55.​यह एक नकद� फसल है। इसक� कृ�ष उ�णक�टबंधीय और 
उपो�णक�टबंधीय �े�� म� क� जाती है। 20-30 �ड�ी सेि�सयस का तापमान 
और 150-300 सेमी क� वा�ष�क वषा� के साथ उ�ण और आ�� जलवाय ुइसक� 
व�ृ�ध के �लए सवा��धक आदश� दशाएँ ह�। यह एक छाया-��य पौधा है तथा 
छायादार व�ृ� के साथ इसका रोपण करने पर यह अ�धक सश�त �प से �वकास 
करता है। इसक� कृ�ष हेत ुअ�य�धक श�ुक मदृा क� आव�यकता होती है। भारत 
इस फसल का दसूरा सबसे बड़ा उ�पादक है। 
उपयु��त प�र�छेद म� व�ण�त फसल क� पहचान क�िजए।  
(a)सरस� 
(b)चाय 
(c)ग�ना 
(d)कपास 
56.​हाल ह� म� स�ुख़�य� म� रह�ं संय�ुत रा�� संघ क� आ�धका�रक भाषाओ ंके 
संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. संय�ुत रा�� महासभा �वारा सव�स�म�त से �वीकृ�त के प�चात ्ह� 
एक भाषा को आ�धका�रक भाषा क� मा�यता �ा�त हो सकती है। 

2. वत�मान म� केवल अ�ेंजी और �पे�नश ह� संय�ुत रा�� क� 
आ�धका�रक भाषाएँ ह�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�?  
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
57.​�न�न�ल�खत म� से कौन महाबो�ध मं�दर प�रसर के �नमा�ण से स�ब�ध थे? 

1. मौय� शासक 
2. गु�त शासक 
3. पाल शासक 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए।  
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
58.​�न�न�ल�खत म� से कौन-से रा�य अ�पकाल�न �ी�म ऋत ुके साथ ठंडी आ�� 
शीत ऋत ुका अनभुव करत ेह�? 

1. अ�णाचल �देश 
2. �सि�कम 
3. पि�चम बंगाल 
4. �बहार 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 4 
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3. West Bengal 
4. Bihar 
Select the correct answer using the code given below. 
(a)1 and 2 only  
(b)2 and 3 only 
(c)1 and 4 only 
(d)1, 2, 3 and 4 
59.​Which of the following statements is/are correct regarding 
Lingayats? 

1. They are worshipers of Lord Vishnu. 
2. They consider authority of Vedas as absolute and infallible. 
3. Basava-purana is one of their sacred texts. 

Select the correct answer using the code given below. 
(a)1 and 2 only  
(b)3 only  
(c)2 and 3 only  
(d)1 and 3 only 
60.​With reference to Environmental (Protection) Act, 1986, consider 
the following statements: 
1. National Ganga River Basin Authority is established under the 
Environment (Protection) Act, 1986. 
2. The Act permits the transfer and capture of wild animals for 
scientific management of animal population. 
Which of the statements given above is/are correct?  
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
61​.With relation to the Indian constitution, "to separate the judiciary 
from the executive in the public services of the State” is a provision 
under the: 
(a)Fundamental duties 
(b)Directive principles of state policy 
(c)Preamble of the constitution 
(d)Seventh schedule 
62.​The term "transformative constitutionalism", invoked by the 
Supreme Court while examining several cases, implies the: 
(a)restriction on the power of parliament to make amendments to 
the basic structure of the constitution. 
(b)dynamic nature of the constitution in realising various rights 
guaranteed by it. 
(c)equal status of Fundamental Rights and Directive Principles of 
State Policy. 
(d)rigid nature of the constitution in allowing amendments. 
63.​Which of the following became a blueprint for introduction of 
English education in India? 
(a)Wood's Dispatch 
(b)Charter Act of 1813 
(c)Macaulay's Minute 
(d)Hunter Commission's Report 
64.​Consider the following statements: 
1. India State of Forest report is released biennually by Ministry of 
Environment, Forest and Climate Change. 
2. According to the most recent report, forest cover in India is 
approximately 1/3rd of total geographical area. 
3. Arunachal Pradesh has more area under forest cover compared 
to Kerala. 
Which of the statements given above is/are correct?  
(a)1 and 2 only 
(b)2 only 

(d)1, 2, 3 और 4 
59.​�लगंायत� के संदभ� म� �न�न�ल�खत म� से कौन-सा/से कथन सह� है/ह� ? 

1. वे भगवान �व�ण ुके उपासक ह�। 
2. वे वेद� क� स�ा को परम और अका�य मानत ेह�। 
3. बासव-परुाण उनके प�व� �ंथ� म� से एक है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)केवल 3 
(c)केवल 2 और 3 
(d)केवल 1 और 3 
60.​पया�वरण संर�ण अ�ध�नयम, 1986 के स�दभ� म� �न�न�ल�खत कथन� पर 
�वचार क�िजए: 

1. पया�वरण (संर�ण) अ�ध�नयम, 1986 के अतंग�त रा���य गंगा नद� 
बे�सन �ा�धकरण क� �थापना क� गयी है।  

2. यह अ�ध�नयम जंतओु ंक� आबाद� के व�ैा�नक �बंधन हेत ुव�य 
जीव� के �थानांतरण और उ�ह� पकड़ने क� अनमु�त �दान करता है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह�  2 
61.​भारतीय सं�वधान के स�दभ� म� �न�न�ल�खत म� से �कसके अतंग�त, "रा�य 
क� लोक सेवाओ ंम�, �यायपा�लका के काय�पा�लका से पथृ�करण” का �ावधान 
�कया गया है? 
(a)मलू क���य 
(b)रा�य के नी�त-�नदेशक त�व 
(c)सं�वधान क� उ�दे�शका 
(d)सातवीं अनसुचूी  
62.​सव��च �यायालय �वारा �व�भ�न मामल� क� सनुवाई के दौरान 
“�पांतरकार� सं�वधानवाद” (transformative constitutionalism) पद का 
उपयोग �कया गया। इसका अथ� है: 
(a)सं�वधान के आधारभतू ढांचे म� संशोधन करने क� संसद क� शि�त पर 
��तबंध। 
(b)सं�वधान �वारा ��याभतू �व�भ�न अ�धकार� को साकार करने के स�दभ� म� 
सं�वधान क� ग�या�मक �कृ�त। 
(c)मलू अ�धकार� और रा�य के नी�त-�नदेशक त�व� को समान दजा�। 
(d)संशोधन� को अनमु�त �दान करने म� सं�वधान क� कठोर �कृ�त। 
63.​भारत म� अ�ेंजी �श�ा क� श�ुआत के �लए �न�न�ल�खत म� से कौन एक �ल ू
��टं बना ? 
(a)व�ुस �ड�पचै 
(b)1813 का चाट�र ए�ट 
(c)मकैाले �मन�स 
(d)हंटर आयोग क� �रपोट� 
64.​�न�न�ल�खत कथन� पर �वचार क�िजये: 

1. भारत वन ि�थ�त �रपोट� पया�वरण, वन और जलवाय ुप�रवत�न 
मं�ालय �वारा ��ववा�ष�क तौर पर जार� क� जाती है। 

2. नवीनतम �रपोट� के अनसुार भारत म� वनावरण कुल भौगो�लक 
�े�फल का लगभग एक-�तहाई है। 

3. केरल क� तलुना म� अ�णाचल �देश म� वनावरण के तहत अ�धक �े� 
ह�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 
(c)केवल 1 और 3 
(d)केवल 3 
65.​�ंश घाट� के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. यह पव�त �ृंखला उ�चभ�ूमय� के म�य एक रै�खक आकार क� 
�न�नभ�ूम होती है। 

2. इसका �नमा�ण एक अ�भसार� �लेट सीमा�त पर होता है। 
3. छोटा नागपरु पठार म� दामोदर नद� एक �ंश घाट� से होकर �वा�हत 
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(c)1 and 3 only 
(d)3 only 
65.​With reference to Rift Valley, consider the following statements: 
1. It is a linear-shaped lowland between highlands or mountain 
ranges. 
2. It is formed along a convergent plate boundary. 
3. Damodar river in the Chota Nagpur plateau flows through a rift 
valley. 
Which of the statements given above are correct? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
66.​The Tsang Po river of China, which later forms the Brahmaputra 
in India, enters Arunachal Pradesh as: 
(a)Dihang 
(b)Kameng 
(c)Lohit 
(d)Debang 
67.​Consider the following statements regarding the Government of 
India Act, 1919: 
1. It introduced the concept of dyarchy at the provincial level only. 
2. Provincial legislative councils were expanded with the majority of 
them being elected members. 
3. Bicameral legislature was introduced at the central level. 
Which of the statements given above is/are correct? 
(a)1 and 2 only 
(b)2 only 
(c)1 and 3 only 
(d)1, 2 and 3 
68.​What is/are the importance(s) of “agroecology”? 
1. It focuses on bringing traditional and indigenous knowledge in the 
management of the ecosystem. 
2. It places a strong emphasis on improving livelihoods and 
promoting inclusion and justice. 
3. It Increases resource-use efficiency and minimizes waste and 
pollution. 
Select the correct answer using the code given below. 
(a)3 only 
(b)1, 2 and 3 
(c)1 only 
(d)1 and 3 only 
69.​After the suspension of the Non-Cooperation Movement (NCM) 
in 1922, annual Kaliparaj conferences were held in Bardoli district in 
1922 and 1927. In this context, consider the following statements 
regarding Kaliparaj Conferences: 
1. They aimed to prepare the masses for armed revolt against 
British government following the suspension of NCM. 
2. Both the conferences were presided by Sardar Patel. 
Which of the statements given above is/are correct?  
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
70.​With reference to plastic pollution, consider the following 
statements: 
1. India has committed to eliminate all single-use plastic in the 
country by 2022. 
2. The theme for 2018 World Environment Day was “Beat Plastic 
Pollution”. 

होती है। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
66.​चीन क� �सां�पो नद�, जो आगे चलकर भारत म� ��मप�ु नद� का �नमा�ण 
करती है, अ�णाचल �देश म� �न�न�ल�खत म� से �कस नाम से �वेश करती है? 
(a)�दहांग 
(b)काम�ग 
(c)लो�हत 
(d)�दबांग 
67.​भारत शासन अ�ध�नयम, 1919 के संदभ� म�, �न�न�ल�खत कथन� पर 
�वचार क�िजए: 

1. इसने केवल �ांतीय �तर पर �वधै शासन को आर�भ �कया था। 
2. �ांतीय �वधान प�रषद� का �व�तार करत ेहुए उनम� �नवा��चत सद�य� 

को बहुमत म� रखा गया था। 
3. संघीय �तर पर ��वसदना�मक �वधानमंडल को आर�भ �कया गया 

था। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 
(c)केवल 1 और 3 
(d)1, 2 और 3 
68.​‘कृ�ष पा�रि�थ�तक�’ (ए�ोइकोलॉजी) का/के �न�न�ल�खत म� से �या मह�व 
है/ह�? 

1. यह पा�रि�थ�तक� तं� के �बंधन म� पर�परागत एवं �थानीय �ान के 
�योग पर क� ��त होती है। 

2. यह आजी�वका म� सधुार करने और समावेशन एवं �याय को बढ़ावा 
देने पर �ढ़तापवू�क बल देती है। 

3. यह संसाधन उपयोग द�ता म� व�ृ�ध और अप�श�ट एवं �दषूण म� 
कटौती करती है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 3 
(b)1, 2 और 3 
(c)केवल 1 
(d)केवल 1 और 3 
69.​1922 म� असहयोग आ�दोलन को वापस �लए जाने के प�चात बारदोल� 
िजले म� 1922 एवं 1927 म� वा�ष�क काल�पराज स�मेलन� का आयोजन �कया 
गया था। इन स�मेलन� के संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. इनका उ�दे�य असहयोग आदंोलन को वापस लेने के प�चात 
जनसामा�य को ���टश सरकार के �व��ध सश�� �व�ोह हेत ुतयैार 
करना था। 

2. दोन� ह� स�मेलन� क� अ�य�ता सरदार पटेल �वारा क� गई थी। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
70.​�लाि�टक �दषूण के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. भारत ने वष� 2022 तक देश से सम�त �सगंल यज़ू �लाि�टक को 
हटाने क� ��तब�धता �य�त क� है। 

2. वष� 2018 के �व�व पया�वरण �दवस क� थीम “बीट �लाि�टक 
पॉ�यशून” थी। 

3. वत�मान म� �लाि�टक �दषूण म� कटौती करने हेत ुकोई विै�वक 
क़ाननूी समझौता मौजदू नह�ं है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 1 और 2 
(c)केवल 2 और 3 
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3. Currently there is no global legal treaty for reduction of plastic 
pollution. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)1 and 2 only 
(c)2 and 3 only 
(d)1, 2 and 3 
71.​Researchers from Indian Institute of Technology Madras (IITM) 
developed “Shakti” is related to 
  (a)Climate vulnerability maps developed for Himalayan states 
  (b)Utilising black carbon soot for treating industrial waste 
  (c)Microprocessor 
  (d)Magnetic Graphene 
72.​Zearalenone recently seen in news is related to. 
  (a)Viral infection which typically spread by mosquitoes. 
  (b)Newly identified population of ultraviolet stars. 
  (c)A chronic neurodegenerative disease. 
  (d)A fungal toxin infesting cereals. 
73.​With reference to Sodic Soils in India, consider the following 
statements: 
1. They are characterized by a disproportionately high concentration 
of sodium. 
2. They are mainly concentrated in arid and semi-arid regions of 
Western and Central India. 
3. They limit the ability of a plant's root to absorb water. 
 Which of the statements given above are correct? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
74.​"The statue of Ahimsa depicting the first Jain Tirthankara, 
Rishabhadeva carved out of the Mangi-Tungi hills holds the 
Guinness world record for the tallest Jain Idol".​ It is located in: 
(a)Karnataka 
(b)Gujarat 
(c)Rajasthan 
(d)Maharashtra 
75.​When the different organisms occupy similar niches in different 
geographical areas, it is best described by which of the following 
terms? 
(a)Ecological equivalents 
(b)Ecotone 
(c)Home range 
(d)Biotope 
76.​Consider the following statements regarding Humayun’s tomb: 
1. It was the first garden tomb of Indian subcontinent. 
2. Its main building material is marble. 
3. It was completely built in Persian style. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)1 and 3 only 
(d)2 and 3 only 
77.​Which among the following Greenhouse gases was/were added 
in the second commitment period (2013–20) for the Kyoto Protocol? 
1. Methane 
2. Nitrous oxide 
3. Water vapours 
4. Nitrogen trifluoride 
Select the correct answer using the code given below. 

(d)1, 2 और 3 
71.​भारतीय �ौ�यो�गक� सं�थान म�ास (IITM) के शोधकता�ओ ंने "शि�त" का 
�वकास �कया जो�क संबं�धत है ? 
(a) �हमालयी रा�य� के �लए �वक�सत जलवाय ुसभेु�यता मान�च� से  
(b) औ�यो�गक कचरे के उपचार के �लए �लकै काब�न का�लख का उपयोग 
करना 
 (c) माइ�ो�ोसेसर 
  (d) चुंबक�य �ाफ�न 
72.​Zearalenone हाल ह� म� समाचार� म� देखा गया जो�क संबं�धत है। 
   (a) वायरल सं�मण जो आमतौर पर म�छर� �वारा फैलता है। 
   (b) पराब�गनी तार� क� नई सं�या क� पहचान क� गई 
   (c) एक परुानी �यरूोडीजेनेरे�टव बीमार�। 
   (d) एक कवक �वष सं��मत अनाज। 
73.​भारत म� सो�डक मदृाओ ं(Sodic Soils) के संदभ� म�, �न�न�ल�खत कथन� 
पर �वचार क�िजए: 

1. सो�डयम क� �वषम �प से उ�च सां�ता इन मदृाओ ंक� �मखु 
�वशषेता है। 

2. ये मदृाएं म�ुय �प से पि�चमी और म�य भारत के श�ुक एव ं
अ��ध-श�ुक �े�� म� पाई जाती ह�। 

3. ये पौधे क� जड़� क� जल-अवशोषण �मता को सी�मत करती ह�। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
74.​"मांगी-तुंगी पहा�ड़य� को काटकर �न�म�त क� गयी �थम जनै तीथ�कर 
‘ऋषभदेव’ को दशा�ने वाल� ‘अ�हसंा क� म�ूत�’ के नाम �व�व क� सवा��धक ऊंची 
जनै म�ूत� होने का �गनीज व�ड� �रकॉड� दज� है।" यह अवि�थत है: 
(a)कना�टक म� 
(b)गुजरात म� 
(c)राज�थान म�  
(d)महारा�� म�  
75.​�न�न�ल�खत म� से कौन-सा पद अलग-अलग जीव� �वारा �व�भ�न 
भौगो�लक �े�� म� समान �नकेत (niches) �था�पत करने क� प�रघटना का 
सव��े�ठ वण�न करता है? 
(a)इकोलॉिजकल एि�ववलै��स  
(b)इकोटोन 
(c)होम र�ज 
(d)बायोटोप 
76.​हुमायू ँके मकबरे के स�दभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. यह भारतीय उपमहा�वीप का पहला उ�यान� वाला मकबरा था।  
2. इसक� म�ुय �नमा�ण साम�ी संगमरमर है। 
3. इसका �नमा�ण पणू�तया फ़ारसी शलै� म� �कया गया था। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)केवल 1 और 3 
(d)केवल 2 और 3 
77.​�न�न�ल�खत �ीनहाउस गैस� म� से �कस/�कन गैस/गैस� को �योटो 
�ोटोकॉल क� दसूर� ��तब�धता अव�ध (2013-20) म� शा�मल �कया गया है? 
1. मीथेन 
2. नाइ�स ऑ�साइड 
3. जल वा�प 
4. नाइ�ोजन �ाई�लोराइड 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 4 
(b)केवल 2 और 4 
(c)केवल 1 और 3 
(d)केवल 1, 2 और 4 
78.​संय�ुत �ांत के कुछ �े�� म� �कसान आदंोलन क� �वशषेता नाई-धोबी बंद 
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(a)4 only 
(b)2 and 4 only 
(c)1 and 3 only  
(d)1, 2 and 4 only 
78.​Peasants’ movement in few pockets of United Provinces was 
characterized by Nai-Dhobi Bandh. In this context, consider the 
following statements regarding the Nai-Dhobi Bandh? 
1. It was a form of social boycott witnessed during Kisan Sabha 
movement in United Provinces. 
2. It was led by Gauri Shankar Mishra. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
79.​Consider the following statements about KRISHI (Knowledge 
based Resources Information Systems Hub for Innovations) 
initiative. 
1.It is an initiative of Indian Council of Agricultural Research (ICAR). 
2.It is developed as a centralized data repository system consisting 
Data generated through Experiments, Surveys, Geo-spatial data 
and Publications. 
Which of the above statements is/are correct? 
  (a)1 only 
  (b)2 only 
  (c)Both 
  (d)None 
80.​Which of the following amendments was/were recently 
introduced by the Prevention of Corruption (Amendment) Act, 2018? 
1. It makes giving a bribe a punishable offence. 
2. It provides that no prior approval would be needed to prosecute 
government functionaries. 
3. It widens the definition of criminal misconduct to protect the 
government functionaries from being wrongly prosecuted. 
Select the correct answer using the code given below. 
(a)1 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3 
81.​Consider the following events: 
1. Internal disturbance was replaced by Armed rebellion as grounds 
for a declaration of national emergency 
2. Sikkim became part of Union of India.  
3. RBI was nationalized and became the banker of the central 
government. 
4. States of Gwalior, Bikaner, Patiala and Baroda joined 
independent India. 
Which of the following is the correct chronological sequence of the 
above events?  
(a)4-3-2-1 
(b)3-4-1-2 
(c)4-3-1-2 
(d)3-4-2-1 
82.​Which of the following best describes the idea of Sovereignty as 
envisioned by the Indian Constitution? 
(a)The power to legislate on any subject concerning the nation. 
(b)Following the policy of isolationism. 
(c)A sub-ordination to international organizations. 
(d)The power to capture other nation's territory through unilateral 
warfare. 

थी। नाइ-धोबी बंद के स�दभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए:  
1. संय�ुत �ांत म� �कसान सभा आ�दोलन के दौरान यह सामािजक 

ब�ह�कार का ह� एक �प था। 
2. इसका नेत�ृव गौर� शंकर �म� �वारा �कया गया था। 

उपयु��त कथन� म� कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
79.​KRISHI (नवाचार� के �लए �ान आधा�रत संसाधन सचूना �णाल� हब) 
पहल के बारे म� �न�न�ल�खत कथन� पर �वचार कर�। 
1. यह भारतीय कृ�ष अनसुंधान प�रषद (ICAR) क� एक पहल है। 
2. यह एक क� ��कृत डटेा �रपॉिजटर� �स�टम के �प म� �वक�सत �कया गया है 
िजसम� �योग, सव��ण, भ-ू�था�नक डटेा और �काशन� के मा�यम से उ�प�न 
डटेा शा�मल है। 
उपरो�त कथन� म� से कौन सा सह� है / ह�? 
   (a) केवल 1 
   (b) केवल 2 
   (c) दोन� 
   (d) कोई नह� ं
80.​�न�न�ल�खत म� से कौन-सा/से संशोधन ��टाचार �नवारण (संशोधन) 
अ�ध�नयम, 2018 �वारा ��ता�वत �कया गया/�कए गए? 

1. यह �र�वत देने को एक दंडनीय अपराध बनाता है। 
2. यह �ावधान करता है �क सरकार� पदा�धका�रय� को अ�भयोिजत 

करने के �लए पवू� �वीकृ�त क� आव�यकता नह�ं होगी। 
3. यह सरकार� पदा�धका�रय� को गलत तर�के से अ�भयोिजत �कये 

जाने से संर�ण �दान करने के �लए आपरा�धक कदाचार क� 
प�रभाषा को �व�ता�रत करता है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
81.​�न�न�ल�खत घटनाओ ंपर �वचार क�िजए: 

1. रा���य आपातकाल क� उ�घोषणा के आधार के �प म� आतं�रक 
अशां�त के �थान पर सश�� �व�ोह को अतंः�था�पत �कया जाना।  

2. �सि�कम का भारत संघ का एक अगं बनना। 
3. RBI का रा���यकरण और इसका क� � सरकार का ब�कर बनना। 
4. �वा�लयर, बीकानेर, प�टयाला और बड़ौदा �रयासत� का �वतं� भारत 

म� सि�म�लत होना। 
�न�न�ल�खत म� से कौन-सा �वक�प उपयु��त घटनाओ ंका सह� कालान�ुम है? 
(a)4-3-2-1 
(b)3-4-1-2 
(c)4-3-1-2 
(d)3-4-2-1 
82.​�न�न�ल�खत म� से कौन भारतीय सं�वधान �वारा यथा प�रकि�पत सं�भतुा 
के �वचार क� सव��म �या�या करता है? 
(a)रा�� से संबं�धत �कसी भी �वषय पर काननू बनाने क� शि�त।  
(b)पथृकतावाद क� नी�त का अनसुरण करना। 
(c)अतंरा����य संगठन� क� अधीन�थता। 
(d)एकप�ीय य�ुध के मा�यम से �कसी अ�य देश के रा�य�े� के अ�ध�हण 
क� शि�त। 
83.​�न�न�ल�खत म� से �कस/�कन उदे�य/उ�दे�य� हेत ुजी. के. गोखले �वारा 
1905 म� 'सव���स ऑफ़ इं�डया सोसाइट�’ क� �थापना क� गयी थी? 

1. रा���य �मशन�रय� को भारत क� सेवा करने के �लए ��श��त करने 
हेत।ु 

2. सं�वधाने�र साधन� के मा�यम से अ�ेंजी शासन को उखाड़ फ� कने 
हेत।ु 

3. सामािजक कुर��तय� के �व��ध संघष� करने हेत।ु 
 नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 

KUMAR’S IAS AGRA,  
Contact Number​:+91-7078888888, Mail I’d :kumariasacademy@gmail.com 



IAS                         ​KUMAR’S IAS​                       ​PCS 

83.​G.K. Gokhale laid the foundation of the 'Servants of India 
Society' in 1905, for which of the following purpose(s)? 
1. To train the national missionaries for the service of India. 
2. To overthrow the Britishers through extra-constitutional means. 
3. To fight against the social evils. 
Select the correct answer using the code given below. 
(a)1 only 
(b)2 and 3 only 
(c)1, 2 and 3 
(d)1 and 3 only 
84.​Global Peace Index is released by? 
  (a) United Nations Security Council 
  (b) Global Peace Foundation 
  (c) Human Rights Watch 
  (d) Institute for Economics and Peace 
85.​Dual Government in Bengal that began after the Treaty of 
Allahabad in 1765 refers to an arrangement where the: 
(a)East India Company became independent ruler of Calcutta and 
the adjoining areas and the Nawab of Bengal was left with the rest 
of the Bengal subah. 
(b)East India Company was granted the revenue rights and the 
Nawab of Bengal had judicial and police functions. 
(c)Mughal Emperor and the East India Company were 
simultaneously recognized as the suzerain power by the Nawab of 
Bengal 
(d)None of the above 
86.​“​This is a man-made Ramsar site and placed on the Montreux 
Record due to the changing ecological character of the site. The site 
is a only known wintering site for the critically endangered Siberian 
Crane in India.” 
Which of the following sites is being described in the above 
passage? 
(a)Point Calimere Bird sanctuary  
(b)Keoladeo National Park 
(c)Sambhar lake  
(d)Loktak lake 
87.I​n relation to the provisions related to Citizenship, the 
Constitution originally provided for the: 
1. modes of acquiring citizenship after the commencement of the 
constitution 
2. procedure describing the registration of persons of Indian origin 
residing outside India 
3. mechanism of granting citizenship rights to persons migrated from 
Pakistan to India 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 and 3 only 
(c)1 and 2 only 
(d)1, 2 and 3 
88.​Dakshina Bharat Hindi Prachar Sabha was established in 1918 
by 
(a)Periyar E.V. Ramasamy Naicker 
(b)C. Rajagopalachari  
(c)Mahatma Gandhi 
(d)Sardar Vallabhai Patel 
89.​Which of the following text(s) act as epigraphical sources for the 
study of Mauryan Empire? 

1. Mudrarakshasa 
2. Indica 
3. Dipavamsa 

(a)केवल 1 
(b)केवल 2 और 3 
(c)1, 2 और 3 
(d)केवल 1 और 3 
84.​�लोबल पीस इंड�ेस �कसके �वारा जार� �कया जाता है? 
   (a) संय�ुत रा�� सरु�ा प�रषद 
   (b) �लोबल पीस फाउंडशेन 
   (c) �यमून राइ�स वॉच 
   (d) इंि�ट�यटू फॉर इकोनॉ�म�स एंड पीस 
85.​1765 म� हुई इलाहाबाद क� सं�ध के प�चात ्बंगाल म� �ारंभ दोहर� शासन 
�णाल� (Dual Government), एक ऐसी �यव�था को संद�भ�त करता है िजसके 
अतंग�त: 
(a)ई�ट इं�डया कंपनी कलक�ा और समीपवत� �े�� क� �वतं� शासक बन गई 
और बंगाल के शषे सबेू बंगाल के नवाब के �लए छोड़ �दए गए थे। 
(b)ई�ट इं�डया कंपनी को राज�व अ�धकार और बंगाल के नवाब को �या�यक 
और प�ुलस काय� �दान �कए गए थे। 
(c)बंगाल के नवाब ने मगुल स�ाट और ई�ट इं�डया कंपनी के आ�धप�य को 
एक साथ मा�यता �दान क�। 
(d)उपयु��त म� से कोई नह�ं। 
 
86.​यह एक मानव �न�म�त रामसर �थल है तथा प�रवत�नशील पा�रि�थ�तक�य 
�वशषेता के कारण इस �थल को म��े�स �रकॉड� म� सि�म�लत �कया गया है। 
यह �थल ���टकल� इंड�जड� साइबे�रयाई �ेन के �लए भारत म� एकमा� �ात 
शीतकाल�न आ�य �थल के �प म� जाना जाता है।" 
उपयु��त प�र�छेद म� �न�न�ल�खत म� से �कस �थल का वण�न �कया गया है? 
(a)�वाइंट कै�लमर प�ी अभयार�य 
(b)केवलादेव रा���य उ�यान 
(c)सांभर झील 
(d)लोकटक झील 
 
87.​नाग�रकता से संबं�धत �ावधान� के संबंध म�, सं�वधान मलूतः उपबं�धत 
करता है: 

1. सं�वधान के लागू होने के प�चात ्नाग�रकता �ा�त करने क� 
�व�धयां। 

2. भारत से बाहर रह रहे भारतीय मलू के �यि�तय� के पंजीकरण क� 
���या का वण�न। 

3. पा�क�तान से भारत म� �वास करने वाले �यि�तय� के �लए 
नाग�रकता संबंधी अ�धकार �दान करने हेत ुतं�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 और 3 
(c)केवल 1 और 2  
(d)1, 2 और 3 
88.​�न�न�ल�खत म� से �कसके �वारा 1918 म� द��ण भारत �हदं� �चार सभा 
क� �थापना क� गयी थी? 
(a)ई. वी. रामा�वामी ‘पे�रयार’ 
(b)सी. राजगोपालाचार� 
(c)महा�मा गांधी 
(d)सरदार व�लभाई पटेल 
89.​�न�न�ल�खत म� से कौन-सा/से �ंथ मौय� सा�ा�य के अ�ययन हेत ु
परुालेखीय �ोत ह� ? 

1. म�ुारा�स 
2. इं�डका 
3. द�पवंश 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए।  
(a)केवल 1 
(b)केवल 1 और 2 
(c)केवल 2 और 3 
(d)1, 2 और 3 
90.​1890 म� �था�पत हुए �थम ��मक संघ ‘बॉ�बे �मल ह��स एसो�सएशन’ क� 
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Select the correct answer using the code given below. 
(a)1 only 
(b)1 and 2 only 
(c)2 and 3 only 
(d)1, 2 and 3 
90.​Bombay Mill Hands Association, the first worker's association set 
up in 1890 was founded by: 
(a)N.M. Lokhande 
(b)Dewan Chaman Lal  
(c)Minoo Masani 
(d)Lala Lajpat Rai 
91.​Which one of the following foreign travellers was a physician and 
wrote extensively on Mughal Empire?  
(a)Francois Bernier 
(b)Marco Polo 
(c)Ibn Battuta 
(d)Abdur Razzaq 
92.​Identify the Wildlife sanctuary/National Park: 
1. It is located on the Mahanadi river. 
2. Hirakud reservoir here attracts migratory birds. 
3. It mainly comprises of dry deciduous mixed forests. 
4. Chausingha and Spotted Deer are found here. 
Select the correct answer using the code given below. 
(a)Debrigarh Wildlife Sanctuary 
(b)Dachigam National Park 
(c)Simlipal National Park 
(d)Garhimatha Wildlife Sanctuary  
93.​Consider the following pairs regarding military exercise between 
India and other countries: 
    ​Joint Military Exercise        Country 
1. Yudh Abhyas                          Sri Lanka 
2. LAMITYE                              Seychelles 
3. Nomadic Elephant                  Thailand 
Which of the pairs given above is/are correctly matched?  
(a)1 and 2 only 
(b)2 only 
(c)1 and 3 only 
(d)1, 2 and 3 
94.​With reference to a Joint State Public Service Commission 
(JSPSC), which of the following statements is/are correct? 
1. It is created by an Act of the Parliament. 
2. The number of members of a JSPSC and their conditions of 
service are determined by the Parliament. 
3. A JSPSC presents its annual performance report to the 
Parliament. 
Select the correct answer using the code given below. 
(a)1 only 
(b)2 and 3 only 
(c)1 and 2 only 
(d)1, 2 and 3 
95.​Which among the following Acts/Rules regulate the Genetically 
Modified food in India? 
1. Customs Act, 1962 
2. Environment Protection Act, 1986 
3. Food Safety and Standards Act, 2006 
Select the correct answer using the code given below. 
(a)1, 2 and 3 
(b)2 and 3 only 
(c)2 only 
(d)1 and 3 only 

�थापना क� थी: 
(a)एन. एम. लोखंड ेने 
(b)द�वान चमन लाल ने 
(c)मीन ूमसानी ने 
(d)लाला लाजपत राय ने 
91.​�न�न�ल�खत म� से कौन-सा �वदेशी या�ी एक �च�क�सक था एवं उसने 
मग़ुल सा�ा�य के �वषय म� �व�तारपवू�क �लखा था? 
(a)�� कोइस ब�न�यर 
(b)माक� पोलो 
(c)इ�न-बततूा 
(d)अ�दरु र�ज़ाक 
92.​�न�न�ल�खत �वशषेताओ ंवाले व�यजीव अभयार�य/रा���य उ�यान क� 
पहचान क�िजए: 

1. यह महानद� पर अवि�थत है। 
2. यहाँ का ह�राकंुड जलाशय �वासी प��य� को आक�ष�त करता है। 
3. यहाँ म�ुयतः श�ुक पण�पाती �म��त वन पाए जात ेह�। 
4. यहाँ चौ�सगंा एवं चीतल (�पॉटेड �डयर) पाए जात ेह�।  

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)देबर�गढ़ व�यजीव अभयार�य 
(b)दाचीगाम रा���य उ�यान 
(c)�समल�पाल रा���य उ�यान 
(d)ग�हरमाथा व�यजीव अभयार�य 
93.​भारत और अ�य देश� के म�य स�ैय अ�यास के संदभ� म�, �न�न�ल�खत 
य�ुम� पर �वचार क�िजए: 
  संय�ुत स�ैय अ�यास   देश 

1. य�ुध अ�यास : �ीलंका 
2. ल�ैमट� (LAMITYE) : सेश�ेस 

3. नोम�ैडक ए�लफ� ट : थाईल�ड 
उपयु��त य�ुम� म� से कौन-सा/से सह� समेु�लत है/ह�? 
(a)केवल 1 और 2 
(b)केवल 2 
(c)केवल 1 और 3 
(d)1, 2 और 3 
94.​संय�ुत रा�य लोक सेवा आयोग (JSPSC) के संदभ� म�, �न�न�ल�खत म� से 
कौन-सा/से कथन सह� है/ह�? 

1. इसका गठन संसद के एक अ�ध�नयम �वारा �कया जाता है। 
2. JSPSC के सद�य� क� सं�या और उनक� सेवा क� शत� संसद �वारा 

�नधा��रत क� जाती ह�।  
3. JSPSC अपनी वा�ष�क �दश�न �रपोट� संसद के सम� ��ततु करता 

है। 
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए।  
(a)केवल 1 
(b)केवल 2 और 3  
(c)केवल 1 और 2 
(d)1, 2 और 3 
95.​भारत म� आनवुं�शक �प से संव���धत (जे�न�टकल� मो�डफाइड) खा�य 
पदाथ� को �न�न�ल�खत म� से कौन-सा/से अ�ध�नयम/�नयम �व�नय�मत 
करता/करत ेहै/ह�? 

1. सीमा श�ुक अ�ध�नयम, 1962 
2. पया�वरण संर�ण अ�ध�नयम, 1986 
3. खा�य सरु�ा और मानक अ�ध�नयम, 2006 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)1, 2 और 3 
(b)केवल 2 और 3 
(c)केवल 2 
(d)केवल 1 और 3 
96.​भारत के �ाचीन इ�तहास के संदभ� म� �न�क, सतमान और कृ�णल 
�न�न�ल�खत म� से �कसके �व�भ�न �कार ह�? 
(a)राजनी�तक संगठन� के 
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96.​With reference to the ancient history of India, the terms​ Nishka, 
Satamana and Krishnala​refer to different types of: 
(a)political organisations 
(b)coins 
(c)soils 
(d)Vedic texts 
97.​Which among the following is/are the implications of bringing an 
area under the Inner line permit? 
1. A special council is setup for the administration of the area. 
2. The State government provides funds to protect the indigenous 
culture of the area. 
3. An official travel document of the entry is required for entry by the 
non-domicile Indian citizens. 
Select the correct answer using the code given below. 
(a)1 and 3 only 
(b)3 only 
(c)1 and 2 only 
(d)1, 2 and 3 
98.​Y M Deosthalee committee is associated with 
  (a) Corporate Social Responsibility 
  (b) Electoral Reforms 
  (c) Digital Payments 
  (d) Public Credit Registry 
99.​Sepahijala Wildlife Sanctuary is located in 
  (a) Mizoram 
  (b) Nagaland 
  (c) Tripura 
  (d) Meghalaya 
100.​Consider the following statements about Gaganyaan 
1.ISRO and NASA have agreed to work together for India’s first 
manned space mission Gaganyaan. 
2.India is planning to send three humans (Gaganyatris) into space 
i.e. in low earth orbit (LEO) by 2022. 
3.This mission will make India fourth nation in the world after USA, 
Russia and China to launch human spaceflight mission. 
Which of the above statements is/are correct? 
  (a) 1, 2 
  (b) 1, 3 
  (c) 2, 3 
  (d) 1, 2, 3 

(b)�स�क� के 
(c)मदृाओ ंके 
(d)व�ैदक �ंथ 
97.​�कसी �े� को इनर लाइन पर�मट के अतंग�त शा�मल करने का/के 
�न�न�ल�खत म� से �या �न�हताथ� है/ह�? 

1. �े� के �शासन हेत ुएक �वशषे प�रषद क� �थापना क� जाएगी। 
2. �े� क� देशज सं�कृ�त के संर�ण हेत ुरा�य सरकार �न�ध उपल�ध 

करवाएगी। 
3. अब इस �े� म� �वेश हेत ुअ�नवासी भारतीय नाग�रक� के �लए एक 

आ�धका�रक या�ा द�तावेज आव�यक होगा।  
नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए।  
(a)केवल 1 और 3 
(b)केवल 3 
(c)केवल 1 और 2 
(d)1, 2 और 3 
98.​Y M Deosthalee स�म�त �कससे संबं�धत है 
   (a) कॉप�रेट सामािजक उ�रदा�य�व 
   (b) चनुावी सधुार 
   (c) �डिजटल भगुतान 
   (d) पि�लक �े�डट रिज��� 
99.​Sepahijala व�यजीव अभयार�य म� ि�थत है 
   (a) �मजोरम 
   (b) नागाल�ड 
   (c) ��परुा 
   (d) मेघालय 
1​00.​गगनयान के बारे म� �न�न�ल�खत कथन� पर �वचार कर� 
1.आईएसआरओ और नासा भारत के पहले मानवय�ुत अतं�र� �मशन 
गगनयान के �लए एक साथ काम करने के �लए सहमत हुए ह�। 
2.भारत 2022 तक तीन मन�ुय� (गगनया��य�) को अतं�र� म� यानी �नचल� 
प�ृवी क� क�ा (एलईओ) म� भेजने क� योजना बना रहा है। 
3.यह �मशन भारत को संय�ुत रा�य अमे�रका, �स और चीन के बाद मानव 
�पेस�लाइट �मशन श�ु करने के �लए द�ुनया म� चौथा रा�� बनाएगा। 
उपरो�त कथन� म� से कौन सा सह� है / ह�? 
   (a) 1, 2 
   (b) 1, 3 
   (c) 2, 3 
   (d) 1, 2, 3 
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